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Question Id : 9209069719 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Why aircraft lessors’ woes may lead to costlier flights

New Delhi: Record high airfares hurting passengers could rise even further
following yet another instance of foreign lessors facing roadblocks in repossessing
their aircraft from a troubled Indian carrier. Leasing aircraft could cost 20-25% more
for startups and financially weak Indian carriers after the Go First case where lessors
are now barred from taking their planes back for at least six months unless the
NCLAT gives them some relief people in the know said. Only Indigo and Tata group
carriers led by air India could be spared this increased cost as they are good credit for
lessors lease rentals account for 10-12% of an airline’s operating cost. A 20-25%
increase in lease rentals will mean overall cost rising by 2-3% which will have to
reflect in ticket prices. Except Al and Indigo it will be very challenging for other
airlines, including startups. NCLT has directed go first erstwhile board to deposit
Rs.5 crore with the resolution professional while the 55 aircraft currently with the
airline are worth over $2.5 billion,” said an industry veteran. Now at the first sign of
trouble in an Indian carrier lessors will line up to responses planes to avoid such a
scenario where an airline uses the IBC route to escape de-registration of aircraft said
another official. In the past also, lessors faced trouble in getting planes back from
airlines such as jet and kingfisher that went bust, with aircraft stuck with the later
being sold as scrap after rotting away at Indian airports. Meanwhile Go's new
management will have to satisfy DGCA that it has the resources to safely operate
flights in term of money manpower and machines.

US engine co PW hits back at Go First, blames “financial mismanagement’.
Go First may have blamed Pratt & Whitney (PW) for its troubles but the US
aerospace major has hit back at the airline. “Go First is seeking to jump the line for
engines over other customers worldwide. Airline customers, who have been in good
financial standing and compliant with contracts, should not be made to suffer due to
the financial mismanagement and contractual violations of one particular airline,”
said sources. Over 50 airbus A320neos of Go and Indigo are grounded due to PW
engines. Asked about these planes, a PW spokesperson said “Expect supply chain to
stabilize throughout 2023....7

Sub questions

Question Number : 1 Question Id : 9209069720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Why airfares already too high could rise even further?

(1) Due to raising fuel cost
(2) Due to raising fuel cost maintenance cost
(3)  Foreign lessors facing problems to buy new aircrafts

(4) A troubled aireraft Indian carrier possesses aircrafts from foreign lessers and
has become the root cause for airfare hike.

Options :

92090638401. 1
92090638402. 2
92090638403. 3
92090638404. 4

Question Number : 2 Question Id : 9209069721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yiven below are two statements :

Statement I :  The full form of NCLAT is National company Low Aviatron
Tribural.
Statement I . Full form of DGCA is Director General of Carrier Aviation.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement 1 is true but Statement I1 is false

(4) Statement [ is false but Statement I is true
Options :
92090638405. 1
92090638406. 2
92090638407. 3
92090638408. 4

Question Number : 3 Question Id : 9209069722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

After which case leasing aircraft could cost 20-25% more?
(1) NCLAT case

{2y DGCA case

(3 Go first case

{4y Al indigo case
Options :
92090638409. 1
92090638410. 2
92090638411. 3
92090638412. 4

Question Number : 4 Question Id : 9209069723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall cost raising due to the lease rented issue will be

(1) 20-25%
(2) 10-12%
(3) 2-3%
(4) 10-25%
Options :

92090638413. 1
92090638414. 2
92090638415. 3
92090638416. 4

Question Number : 5 Question Id : 9209069724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Go First is seeking to jump the line for engines over other customers worldwide. The
underlined phrase means:

(1)  To skip the que.
(2)  To skip the que and go to the last place.
(3)  To skip the que while waiting for one’s turn.

(4) To skip the que and go ahead without waiting for one’s turn.

Options :



92090638417. 1
92090638418. 2
92090638419. 3
92090638420. 4

Question Id : 9209069719 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Why aircraft lessors’ woes may lead to costlier flights

New Delhi: Record high airfares hurting passengers could rise even further
following yet another instance of foreign lessors facing roadblocks in repossessing
their aircraft from a troubled Indian carrier. Leasing aireraft could cost 20-25% more
for startups and financially weak Indian carriers after the Go First case where lessors
are now barred from taking their planes back for at least six months unless the
NCLAT gives them some relief people in the know said. Only Indigo and Tata group
carriers led by air India could be spared this increased cost as they are good credit for
lessors lease rentals account for 10-12% of an airline’s operating cost. A 20-25%
increase in lease rentals will mean overall cost rising by 2-3% which will have to
reflect in ticket prices. Except Al and Indigo it will be very challenging for other
airlines, including startups. NCLT has directed go first erstwhile board to deposit
Rs.5 crore with the resolution professional while the 55 aircraft currently with the
airline are worth over $2.5 billion,” said an industry veteran. Now at the first sign of
trouble in an Indian carrier lessors will line up to responses planes to avoid such a
scenario where an airline uses the IBC route to escape de-registration of aircraft said
another official. In the past also, lessors faced trouble in getting planes back from
airlines such as jet and kingfisher that went bust, with aircraft stuck with the later
being sold as scrap after rotting away at Indian airports. Meanwhile Go's new
management will have to satisfy DGCA that it has the resources to safely operate
flights in term of money manpower and machines.

US engine co PW hits back at Go First, blames ‘financial mismanagement’.
Go First may have blamed Pratt & Whitney (PW) for its troubles but the US
aerospace major has hit back at the airline. “Go First is seeking to jump the line for
engines over other customers worldwide. Airline customers, who have been in good
financial standing and compliant with contracts, should not be made to suffer due to
the financial mismanagement and contractual violations of one particular airline,”
said sources. Over 50 airbus A320neos of Go and Indigo are grounded due to PW
engines. Asked about these planes, a PW spokesperson said “Expect supply chain to
stabilize throughout 2023....”

Sub questions

Question Number : 1 Question Id : 9209069720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Why airfares already too high could rise even further?

(1)  Due to raising fuel cost
(2) Due to raising fuel cost maintenance cost
(3)  Foreign lessors facing problems to buy new aircrafts

(4) A troubled aircraft Indian carrier possesses aircrafts from foreign lessers and
has become the root cause for airfare hike.

Options :

92090638401. 1
92090638402. 2
92090638403. 3
92090638404. 4

Question Number : 2 Question Id : 9209069721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jiven below are two statements ¢

Statement I :  The full form of NCLAT 1s National company Low Aviatron
Tribural.
Statement 11 : Full form of DGCA is Director General of Carrier Aviation.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement I is true
Options :
92090638405. 1
92090638406. 2
92090638407. 3
92090638408. 4



Question Number : 3 Question Id : 9209069722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After which case leasing aircraft could cost 20-25% more?
(1) MNCLAT case

(2) DGCA caze

(3)  Go first case

(4) Al indigo case
Options :
92090638409. 1
92090638410. 2
92090638411. 3
92090638412. 4

Question Number : 4 Question Id : 9209069723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall cost raising due to the lease rented issue will be
(1) 20-25%
(2) 10-12%
(3 2-3%

(

4} 10-25%

T

Options :

92090638413. 1
92090638414. 2
92090638415. 3
92090638416. 4

Question Number : 5 Question Id : 9209069724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Go First 1s seeking to jump the line for engines over other customers worldwide. The
underlined phrase means:

(1) To skip the que.
(2)  To skip the que and go to the last place.
(3)  To skip the que while waiting for one’s turn.

(4)  To skip the que and go ahead without waiting for one’s turn.

Options :

92090638417. 1
92090638418. 2
92090638419. 3
92090638420. 4

Sub-Section Number : 2
Sub-Section Id : 920906315
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209069725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change voice for the given statements ‘Do not tease the monkey’.

(1) Let the monkey be not teased.
(2) The monkey are not being teased.
(3)  Let the monkey not be teased.

(4) The monkey has not been teased.

Options :

92090638421. 1
92090638422. 2
92090638423. 3
92090638424. 4

Question Number : 6 Question Id : 9209069725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Change voice for the given statements ‘Do not tease the monkey’.

(1) Let the monkey be not teased.
(2) The monkey are not being teased.
(3)  Let the monkey not be teased.

(4)  The monkey has not been teased.

Options :

92090638421. 1
92090638422. 2
92090638423. 3
92090638424. 4

Question Number : 7 Question Id : 9209069726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning the foreign word: ‘carte blanche’

(1) Official intimation
(2) Bad intention
(3) Hair dresser

(4) Full freedom of action

Options :

92090638425. 1
92090638426. 2
92090638427. 3
92090638428. 4

Question Number : 7 Question Id : 9209069726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning the foreign word: ‘carte blanche’

(1) Official intimation

(2) Bad intention

(3 Hair dresser

(4) Full freedom of action
Options :

92090638425. 1
92090638426. 2



92090638427. 3
92090638428. 4

Question Number : 8 Question Id : 9209069727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given in order from the options given
below: The daytime temperature increased over two degree _ Delhi
thursday. The weather station sports complex near Akshrdham recorded 41.1
degree Celsius which was the highest in the city.

(1) by, at, in, of (2) by, in, on, at
(3) by, at, in, on (4) by, at, in, from
Options :

92090638429. 1
92090638430. 2
92090638431. 3
92090638432. 4

Question Number : 8 Question Id : 9209069727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given in order from the options given
below: The daytime temperature increased over two degree _  Delhi
thursday. The weather station sports complex near Akshrdham recorded 41.1
degree Celsius which was the highest in the city.

(1) by, at, in, of (2) by, in, on, at
(3) by, at, in, on (4) by, at, in, from
Options :

92090638429. 1
92090638430. 2
92090638431. 3
92090638432. 4

Question Number : 9 Question Id : 9209069728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the appropriate direct- speech for the Indirect-speech given below: Alok said, “1
have completed my work.”

(1) Alok tells, “he completed his work,”

(2)  Alok says that his work 1s completed.

(3) Alok said that he had completed his work.
(4) My work is completed; Alok said.

Options :

92090638433. 1
92090638434. 2
92090638435. 3
92090638436. 4

Question Number : 9 Question Id : 9209069728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the appropriate direct- speech for the Indirect-speech given below: Alok said, “ 1
have completed my work.”

(1) Alok tells, “he completed his work,”
(2)  Alok says that his work is completed.

(3) Alok said that he had completed his work.
(4) My work is completed; Alok said.

Options :

92090638433. 1
92090638434. 2
92090638435. 3
92090638436. 4

Question Number : 10 Question Id : 9209069729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ‘captive’ is: -

(1) Candid (2) Censure
(3) Pragmatic (4) Prisoner
Options :

92090638437. 1
92090638438. 2
92090638439. 3



92090638440. 4

Question Number : 10 Question Id : 9209069729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ‘captive’ is: -

(1) Candid (2} Censure
(3) Pragmatic (4) Prisoner
Options :

92090638437. 1
92090638438. 2
92090638439. 3
92090638440. 4

Question Number : 11 Question Id : 9209069730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The values of M and N, which satisfy the equation M-N+9=0 and M+3N=19, are
respectively:

(1) 2, -7
(2) 7, -2
(3) 2.7
(4) 2,7
Options :

92090638441. 1
92090638442. 2
92090638443. 3
92090638444. 4

Question Number : 11 Question Id : 9209069730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The values of M and N, which satisfy the equation M-N+9=0 and M+3N=19, are
respectively:

(1) 2.-7
(2) 7, -2
(3) 2.7
(4) 2,7
Options :

92090638441. 1
92090638442. 2
92090638443. 3
92090638444. 4

Question Number : 12 Question Id : 9209069731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 8 =4" =2 and, x+2y+z =35then the value of x is:

(1) 3 (2) 4
(3) 5 4 2
Options :

92090638445. 1
92090638446. 2
92090638447. 3
92090638448. 4

Question Number : 12 Question Id : 9209069731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 8 =4" =2 and, x+2y+z=35then the value of x is:

(1) 3 (2) 4
(3) b (4) 2
Options :

92090638445. 1
92090638446. 2
92090638447. 3
92090638448. 4

Question Number : 13 Question Id : 9209069732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The product of LCM and HCF of any two expression is xxfy+xyiy first expression is (x2+y2)
then the second expression will be:

(1) (x-y) (2) (x+y)
(3) (ri—y=) (4)  (x—y+xy)

Options :

92090638449. 1
92090638450. 2
92090638451. 3
92090638452. 4

Question Number : 13 Question Id : 9209069732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of LCM and HCF of any two expression is x—xfy+xyZ—y* first expression is (x2+y2)
then the second expression will be:

(1) (x=y) (2) (xH)
(3) (x:-y%) (4)  (x—y+xy)

Options :

92090638449. 1
92090638450. 2
92090638451. 3
92090638452. 4

Question Number : 14 Question Id : 9209069733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; : ; T X
In how many time will a sum of money doubles itself at 7-% simple interest per

i

annum:

(1) 14 yvears 3 months
(2) 13 years 4 month
(3) 13 years 9 month
(4) 13 years 3 month
Options :
92090638453 1
92090638454. 2



92090638455. 3
92090638456. 4

Question Number : 14 Question Id : 9209069733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. : ; | .
In how many time will a sum of money doubles itself at 7-% simple interest per

“

Annum:

(1) 14 years 3 months
(2) 13 years 4 month
(3) 13 years 9 month
(4) 13 years 3 month

Options :

92090638453. 1
92090638454. 2
92090638455. 3
92090638456. 4

Question Number : 15 Question Id : 9209069734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of money, which will amount to Rs.16,810 in 6 months at the rate of 10% per
annum when the interest is compounded quarterly is :

(1) Rs.16,400
(2) Rs.15,500
(3) Rs.15,000
(1) Rs.16.000

Options :

92090638457. 1
92090638458. 2
92090638459. 3
92090638460. 4

Question Number : 15 Question Id : 9209069734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sum of money, which will amount to Rs.16,810 in 6 months at the rate of 10% per
annum when the interest is compounded quarterly is :

(1) Rs.16,400
(2) Rs.15,500
(3) Rs.15,000
(4) Rs.16,000

Options :

92090638457. 1
92090638458. 2
92090638459. 3
92090638460. 4

Question Number : 16 Question Id : 9209069735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SCM@NLT2Y65aQ$ 7T*WH#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

@ 3 (Z 2
(3 3 (4) 4
Options :

92090638461. 1
92090638462. 2
92090638463. 3
92090638464. 4

Question Number : 16 Question Id : 9209069735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CMaNLT2Y6SaQ$7*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

(1) 1 (2) 2
(3) 3 (4) 4
Options :

92090638461. 1
92090638462. 2
92090638463. 3



92090638464. 4

Question Number : 17 Question Id : 9209069736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : A college student said, “ everyone desires to buy a personal
computer”
Assumption I : personal computers are not a need but a luxury

IT : Use of personal computers improve gquality of skill.

Which of the above assumption (5) is /are implicit in the statement?

(1) Only assumption |
(2) Only assumption 11
(3)  Assumption | and assumption 11

(4) Neither assumption I or assumption 11

Options :

92090638465. 1
92090638466. 2
92090638467. 3
92090638468. 4

Question Number : 17 Question Id : 9209069736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement : A college student said, “ everyone desires to buy a personal

computer”
Assumption I : personal computers are not a need but a luxury

IT : Use of personal computers improve quality of skill.

Which of the above assumption (5) is /are implicit in the statement?

(1) Only assumption |
(2) Only assumption 11
(3)  Assumption | and assumption 11

(4) Neither assumption I or assumption 11

Options :

92090638465. 1
92090638466. 2
92090638467. 3
92090638468. 4

Question Number : 18 Question Id : 9209069737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CMaNLT2Y6SaQ37*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

iy 1 (2) 2
(3) 3 (4) 4
Options :

92090638469. 1
92090638470. 2
92090638471. 3
92090638472. 4

Question Number : 18 Question Id : 9209069737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

8CM@NLT2Y6SaQ$7*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

21 . (2) Z
(3) 3 (4) 4
Options :

92090638469. 1
92090638470. 2
92090638471. 3
92090638472. 4

Question Number : 19 Question Id : 9209069738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many number of rectangles are there in the following figure?

(1) 10 (2) 19
(3) 13 (4) 20
Options :

92090638473. 1
92090638474. 2
92090638475. 3
92090638476. 4

Question Number : 19 Question Id : 9209069738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many number of rectangles are there in the following figure?

(1) 10 2) 19
3 18 (4) 20
Options :

92090638473. 1
92090638474. 2
92090638475. 3
92090638476. 4

Question Number : 20 Question Id : 9209069739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 45, where boys are twice that of girls, Geeta ranked eleventh from the
top. If there are 6 boys ahead of Geeta, how many girls are after her in the ranking?

(1) 34 (2) 24
(3) 10 (4) 12
Options :

92090638477. 1
92090638478. 2
92090638479. 3
92090638480. 4

Question Number : 20 Question Id : 9209069739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 45, where boys are twice that of girls, Geeta ranked eleventh from the
top. If there are 6 boys ahead of Geeta, how many girls are after her in the ranking?

(1) 34 (2) 24
(3) 10 (4) 12
Options :

92090638477. 1
92090638478. 2
92090638479. 3



92090638480. 4

Question Number : 21 Question Id : 9209069740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The patient-to-doctor teleconsultation System developed for MoHFW has been named

as:

(1) e-Chikitsa (2) e-Sanjeevani
(3) e-Swasthya (4) e-Nirvana
Options :

92090638481. 1
92090638482. 2
92090638483. 3
92090638484. 4

Question Number : 21 Question Id : 9209069740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The patient-to-doctor teleconsultation System developed for MoHFW has been named

as:

(1) e-Chikitsa (2) e-Sanjeevani
(3) e-Swasthyva (4) e-Nirvana
Options :

92090638481. 1
92090638482. 2
92090638483. 3
92090638484. 4

Question Number : 22 Question Id : 9209069741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many members of Rajya Sabha are nominated by President from science, Art,
literature and social service background?

(1) 20 (2) 8
(3) 12 (4) 15

Options :



92090638485. 1
92090638486. 2
92090638487. 3
92090638488. 4

Question Number : 22 Question Id : 9209069741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many members of Rajya Sabha are nominated by President from science, Art,
literature and social service background?

(1) 20 (2) 8
(3) 12 (4) 15

Options :

92090638485. 1
92090638486. 2
92090638487. 3
92090638488. 4

Question Number : 23 Question Id : 9209069742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Constitution of India Derives its ultimate authority from:

(1) Supreme Court of India (2) Parliament of India

(3) People of India (4) Constitutional Assembly

Options :

92090638489. 1
92090638490. 2
92090638491. 3
92090638492. 4

Question Number : 23 Question Id : 9209069742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Constitution of India Derives its ultimate authority from:

(1) Supreme Court of India (2) Parliament of India

(3) People of India (4) Constitutional Assembly

Options :



92090638489. 1
92090638490. 2
92090638491. 3
92090638492. 4

Question Number : 24 Question Id : 9209069743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Space Hesearch Organisation (ISR0) is planning to launch which mission in
collabhoration with French Space Agency (NES) hy year 20257
(1) Mars Mission (2) Jupiter Mission

(3) Saturn Mission (4)  Venus Mission

Options :

92090638493. 1
92090638494. 2
92090638495. 3
92090638496. 4

Question Number : 24 Question Id : 9209069743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Space Hesearch Organisation (ISR0) is planning to launch which mission in
eollaboration with French Space Agency (NES) hy year 20257
(1) Mars Mission (2) Jupiter Mission

(3) Saturn Mission (4)  Venus Mission

Options :

92090638493. 1
92090638494. 2
92090638495. 3
92090638496. 4

Question Number : 25 Question Id : 9209069744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Quarter erystals used in quarters clock are chemieally: -

(1)
(2)
(3)
(4)

Germanium oxide
Silicon dioxide
sodium silicate

mixture of germanium oxide and silicon dioxide

Options :

92090638497. 1
92090638498. 2
92090638499. 3
92090638500. 4

Question Number : 25 Question Id : 9209069744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Quarter erystals used in quarters clock are chemically: -

(1)
(2)
(3)
(4)

Germanium oxide
Silicon dioxide
sodium silicate

mixture of germanium oxide and silicon dioxide

Options :

92090638497. 1
92090638498. 2
92090638499. 3
92090638500. 4

Part B: Anthropology
Section Id : 920906194
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 920906316



Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 9209069745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Lamarckism, what is the source of evolution?

(1) Natural selection

(2) Inheritance of acquired characteristics
(3) Genetic drift

(4) (Gene flow

Options :

92090638501. 1
92090638502. 2
92090638503. 3
92090638504. 4

Question Number : 26 Question Id : 9209069745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THTHATE % ITER, H fGEE F HE = 87

(1) Wl =54 (2) Ioifara i <t S
(3) AR fa=eH (4) = vaEE
Options :

92090638501. 1
92090638502. 2
92090638503. 3
92090638504. 4

Question Number : 27 Question Id : 9209069746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the main proposition of Darwinism?

(1) Species are fixed and unchanging

(2) Species can acquire new characteristics through use or disuse.

(3) Evolution occurs through natural selection

(4) Evolution relies on inheritance of acquired characteristics
Options :

92090638505. 1
92090638506. 2
92090638507. 3
92090638508. 4

Question Number : 27 Question Id : 9209069746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STa-aTE o1 & W& 91 8 7

(1) wfisfts Feifa 7o sefEaE &

(2)  STEM HYET FWAM % g S T IO B I F Gohd 2
(3) HHATIHE FTHidH 99 & HIAH H el &

(4)  seafasE, Imfd T S FemEdd W 9w R

Options :

92090638505. 1
92090638506. 2
92090638507. 3
92090638508. 4

Question Number : 28 Question Id : 9209069747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which organelle is responsible for producing energy for the cell?

(1) Mitochondria (2) Nucleus
(3 Endoplasmic Reticulum (4) Golgi Apparatus
Options :

92090638509. 1
92090638510. 2
92090638511. 3



92090638512. 4

Question Number : 28 Question Id : 9209069747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FifyeR & fou St 3091 F 79 BE A1 IR IAEE 27

(1) FFHH (2) F=F
(3)  Ha:zarg arferen (4) TiTes ITHT
Options :

92090638509. 1
92090638510. 2
92090638511. 3
92090638512. 4

Question Number : 29 Question Id : 9209069748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the process by which ENA is synthesized from DNA?

(1) Translation (2) Transcription
(3) Replication (4) Mutation
Options :

92090638513. 1
92090638514. 2
92090638515. 3
92090638516. 4

Question Number : 29 Question Id : 9209069748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9% % = vfswan # 5 g7 DNA &1 RNA Heeifyd g1 27

(1) = (2) FgeEd
(3) wfdwdEA (4) IeafEa
Options :

92090638513. 1
92090638514. 2
92090638515. 3



92090638516. 4

Question Number : 30 Question Id : 9209069749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which enzyme is responsible for separating the two strands of DNA during replication?

(1 DNA Polymerase (2) Helicase
B))] Ligase (4) RNA Polymerase
Options :

92090638517. 1
92090638518. 2
92090638519. 3
92090638520. 4

Question Number : 30 Question Id : 9209069749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wierrdta % G DNA 3 &1 31 &1 4% HEl & (670 S §1 Uaes IweHt 87

(1) DNA dfefiiiE (2) #efrrm
(3) @ (4) RNA wifiig
Options :

92090638517. 1
92090638518. 2
92090638519. 3
92090638520. 4

Question Number : 31 Question Id : 9209069750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the largest human chromosome?

(1) Chromosome — 01 (2) Chromosome — 13
(3 Chromosome — 18 (4) Chromosome — 22
Options :

92090638521. 1
92090638522. 2



92090638523. 3
92090638524. 4

Question Number : 31 Question Id : 9209069750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= & & Ara 1 ged w9 TR S a1 87

(1) 77EF - 01 (2) TUEA - 13
(3) TUEA - 18 (4) TuigA - 22
Options :

92090638521. 1
92090638522. 2
92090638523. 3
92090638524. 4

Question Number : 32 Question Id : 9209069751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following blood type is known as the Universal donor?

(1) A (2) B
(3) AB 4 O
Options :

92090638525. 1
92090638526. 2
92090638527. 3
92090638528. 4

Question Number : 32 Question Id : 9209069751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=1 9 Torm 199 O 1 IS g1 HE A 87

1 A (Z) B
3) AB (4 O
Options :

92090638525. 1
92090638526. 2



92090638527. 3
92090638528. 4

Question Number : 33 Question Id : 9209069752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What iz the first law of Mendel?

(1) Law of Segregation (2) Law of Independent Assortment
(3) Law of Dominance (4) Law of Inheritance
Options :

92090638529. 1
92090638530. 2
92090638531. 3
92090638532. 4

Question Number : 33 Question Id : 9209069752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Heel 1 Bl g/ fEm = R e

(1) E9"HA/faaas= #1 FEm (2) @A I9gET &1 Em
(3)  wyrfaar &1 g (4) Fwmrta =1
Options :

92090638529. 1
92090638530. 2
92090638531. 3
92090638532. 4

Question Number : 34 Question Id : 9209069753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During which stage of mitosis do the chromosomes align at the center of the cell?

(1) Prophase (2) Metaphase
(3 Anaphase (1) Telophase
Options :

92090638533. 1
92090638534. 2



92090638535. 3
92090638536. 4

Question Number : 34 Question Id : 9209069753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TV 61 THE 7T | HIWH 6 Hg o IS Sfaqag & o 8 7

r

(1)  gafewe (2) HeE=
(3)  Ty=ETEE (4) FeITEERn
Options :

92090638533. 1
92090638534. 2
92090638535. 3
92090638536. 4

Question Number : 35 Question Id : 9209069754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The New-World monkeys are families of primates that are found in :

(1) Northern India, Bhutan and Sri Lanka
(2) Countries of African Continent
(3 Mexico, Central America and South America

(4) Indonesia, Malaysia and Adjoining Island

Options :

92090638537. 1
92090638538. 2
92090638539. 3
92090638540. 4

Question Number : 35 Question Id : 9209069754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=-TeS Hehl 3 HATGHI  THER & = H o1 &
(1) 3dl vwa, qem aur Hiei

(2)  IThish HETEMT & <

(3) Ofeasi, oo i au gfEaf sl

(4) s, TelfsE a9 379 Ho g

Options :

92090638537. 1
92090638538. 2
92090638539. 3
92090638540. 4

Question Number : 36 Question Id : 9209069755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following, which anatomical change was observed when humans became
bipedal?

(1) Opposable Toe

(2)  Absence of Chin

(3) Inferiorly placed foramen magnum
(4) Straight femur

Options :

92090638541. 1
92090638542. 2
92090638543. 3
92090638544. 4

Question Number : 36 Question Id : 9209069755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
59 wHa fg-urdl &1 9 39 = § | & a1 wiites gfeds dan e

(1) wfaem=E aera (2) fag= =19 &
(3) WERY i FaEd =i (4) Hefr Faifen
Options :

92090638541. 1
92090638542. 2



92090638543. 3
92090638544. 4

Question Number : 37 Question Id : 9209069756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fossils of Pithecanthropus erectus was discovered in the vear 1891 from

(1) Shivalik hills (2) Java
(3) Choukovtein (4) Nile valley
Options :

92090638545. 1
92090638546. 2
92090638547. 3
92090638548. 4

Question Number : 37 Question Id : 9209069756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faefisuim stFem % Sfawg 99 1891 § T H W 7 4|
(1) Torefers i varfeaf (2) S

(3) b (4) e 7§ Fi a
Options :

92090638545. 1
92090638546. 2
92090638547. 3
92090638548. 4

Question Number : 38 Question Id : 9209069757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a part of the human skeleton?

(1) Fibual (2) Patella
(3) Ulna (4) Malleus
Options :

92090638549. 1



92090638550. 2
92090638551. 3
92090638552. 4

Question Number : 38 Question Id : 9209069757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= § O 991 9d STl H 91 A8 27

(1) =gt (Fibula) (2) ween (Patella)
(3) Fa.9=wifess (Ulna) (4) #feas (Malleus)
Options :

92090638549. 1
92090638550. 2
92090638551. 3
92090638552. 4

Question Number : 39 Question Id : 9209069758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is NOT one of the three somatotyvpes deseribed by William Sheldon?

(1) Endomorph (2) Mesomorph
(3 Ectomorph (4) Hypermorph
Options :

92090638553. 1
92090638554. 2
92090638555. 3
92090638556. 4

Question Number : 39 Question Id : 9209069758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= O 9 =19 91 39 gideEy 4 ° v 94 g foae avie fafoag sesa a3 fear g7

(1) =@ &9 (2) T ®q
(3) ¥Ha: &9 (4) faEy
Options :

92090638553. 1



92090638554. 2
92090638555. 3
92090638556. 4

Question Number : 40 Question Id : 9209069759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which bone is NOT a part of human skull?

(1) Parietal Bone (2) Sphenoid Bone
(3) Fibula Bone (4) Temporal Bone
Options :

92090638557. 1
92090638558. 2
92090638559. 3
92090638560. 4

Question Number : 40 Question Id : 9209069759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

+H Hi 33T 9E FAT 1 GE TE 27

(1)  fafesriea (2) =hTes HfE
(3)  afgsirereT e (1) Fvire HfEr
Options :

92090638557. 1
92090638558. 2
92090638559. 3
92090638560. 4

Question Number : 41 Question Id : 9209069760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : Bipedalism has heen a critical advancement in the evolutionary process of
humans.

Reasons (R) : Walking upright on 2 legs has been a response to the changes in

environment spanning over a period of around four million years.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(A) is correct but (R) is not correct

(A) is not correct but (R) is correct

Options :

92090638561. 1
92090638562. 2
92090638563. 3
92090638564. 4

Question Number : 41 Question Id : 9209069760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e &1 YA QU T € : U AHHe (Assertion (A)) % €9 T fefEd 8 91 gHU 39 FRU
(Reasons (R)) % ®9 4 :

FweE (A) :  OE & Ha-Taem i ufEm 7 B-nd g v wifas wfa @ 2
A0 (R) : 21 21 W EE B H1Y o 9@ia § o 4 ffees 96l % daia §

U 9@l & 9l U iR g

IHH Y o el H, A fou 70 fohedl § § 90 39 301 1 991 hifag;

(1)
(2)
(3)
(4)

(A) 3R (R) <H1 781 & 3R (R), (A) F1 =t =3me=n 2

(A) 37 (R) g wét 2, @f (R), (A) i =& =amen 78 2
(A) w#t 8, wf (R) 581 78 21

(A) @l 78 8, @i (R) 78 2|



Options :

92090638561. 1
92090638562. 2
92090638563. 3
92090638564. 4

Question Number : 42 Question Id : 9209069761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : Due to decrease of body size in the course of human evolution, there has

been lowering of cranial capacity as well.

Reasons (R) : The increase in cranial capacity and complexity of human brain is co-

related with development of language and usage of tools.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false

(4) (A) 1s falze but (R) is true

Options :

92090638565. 1
92090638566. 2
92090638567. 3
92090638568. 4

Question Number : 42 Question Id : 9209069761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= a1 97 fou U § : vF 3fEuE (Assertion (A)) % ®9 1 foiftaad & @ g@0 39 wAW
(Reasons (R)) HEIH :

HAYFYT (A):  AFE & HAGEHE T HET & W9 T FH1 34 & S0 HIE a9qar 5 o
T 31 g 2

FA (R) : FACE &Fal § gfg a9 " wfeass 6 dfeear, W % fawm qw
ITHN % ITAN F WY FE-Ha(Gd 2

ITH HYH o HATellh H, A fou mu fawmedt § & 996 39w I H1 IIH Hifau;

(1) (A) 3R (R) 3HT =& & 3 (R), (A) i =&l =area 2|

(2) (A) 3R (R) 31 wEl &, =itk (R), (A) =i wel =amen 78 2|
(3) (A) @ 2, wifd (R) @&l 8 2

(4) (A) @l @ 2, @l (R) 981 2

Options :

92090638565. 1
92090638566. 2
92090638567. 3
92090638568. 4

Question Number : 43 Question Id : 9209069762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following hominid fossils in reverse chronological order (most recent to

the earliest) :

(A) Homo erectus

(B)  Australopethecus africanus
(C) Neanderthals

(D) Grimaldi

(E) Homo sapiens

Choose the correct answer from the options given below :

(D (B, A), B), (C), (D) (2) (E), (D), (C), (A), (B)

3)  (E), (B), (4), (D), (C) (4) (E), (C), (A), (B), (D)

Options :

92090638569. 1
92090638570. 2
92090638571. 3
92090638572. 4

Question Number : 43 Question Id : 9209069762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr= <ttt =t #1e & fawda 9 o safeya 1) (afee 5 o)

(A) EmisiERd

(B) HAREIMEUHE ThishE
(C) TEr=wEE

(D) TrEETEE

(E) gm@EfE

= fou v faedi § & H& I 1 F5 Hif
(1) (E), (A), (B), (O), (D)
(2) (E), D), (C), (A), (B)
(3) (E), (B), (A), (D), (C)
(4)  (E), (C), (A), (B), (D)

Options :

92090638569. 1
92090638570. 2
92090638571. 3
92090638572. 4

Question Number : 44 Question Id : 9209069763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chronologically arrange the following discovery/prepositions :
(A) Theory of inheritance of acquired characteristics

(B) Theory of natural selection

(i Discovery of cell

(D) UNESCO statement on race

(E) Law of independent assortment

Choose the correct answer from the options given below :

(1) (O, (B), (A), (E), (D) (2) (C). (E), (A), (B), (D)
(3)  (C), (D). (B), (E), (A) (4) (C). (A), (B), (E), (D)

Options :

92090638573. 1
92090638574. 2
92090638575. 3
92090638576. 4

Question Number : 44 Question Id : 9209069763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr=fafas g /gl S SemaHar =afed Hi
(A)  ITifsla @&l % fore ssmme 1 fagrea

(B)  wrehfesh == 1 fagra

(C) =iferer i @i

(D) et = fawa & gaeni =1 rfawgA

(E) &ad 319ege4 &1 fam

= fou o faeedl § 8 9 ST 1 959 it
(1) (C), (B), (A), (E), (D)
(2)  (C), (E), (A), (B), (D)
3y  (C), (D), (B), (E), (A)

(4)  (C), (A), (B), (E), (D)
Options :
92090638573. 1
92090638574. 2
92090638575. 3
92090638576. 4

Question Number : 45 Question Id : 9209069764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : In the evolutionary historv of humans, Homo erectus were relatively more

developed than Neanderthals.

Statement I1 : In the evolutionary history of humans, Homo erectus were relatively less

developed than Archaic Homo Sapiens.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I1 are correct

(2) Both Statement | and Statement I are incorrect

(3) Statement [ is correct but statement I is incorrect

(4) Statement [ is incorrect but statement I1 is correct
Options :

92090638577. 1
92090638578. 2
92090638579. 3
92090638580. 4

Question Number : 45 Question Id : 9209069764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i & o feg Mo

FEA1: WHE & HA-TTwE & sfaem § FErswen f s EdEEes Aivs
Ta=fam 9

FYA Il : oFE & Fa-fge@ & sfiem § g @i & o0 § amsieed &y
Taenfem 4|

ITF HYH o e °, 4= fou mu fawedi @ & 94 I0gwE IR #1994 FHifew -

(1) A [ 3R [ g |8 81
(2) w3 1 eH o 2l
(3) = 1= &, S % 11 e 2|
(4) FYF 174 g, oife oA 11 98 2

Options :

92090638577. 1
92090638578. 2
92090638579. 3
92090638580. 4

Question Number : 46 Question Id : 9209069765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement I : Trizsomy for chromosome 21 in humans is also known as Down's Syndrome.

Statement I1 : Trisomy for chromosome 18 in humans is also known as Patau Syndrome.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true

(2) Both Statement | and Statement I are false

(3) Statement [ is true but statement 11 is false
(4) Statement [ is false but statement I is true
Options :

92090638581. 1
92090638582. 2



92090638583. 3
92090638584. 4

Question Number : 46 Question Id : 9209069765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 3w ey mw E

FeH 1: TFa d A 21 % fou greandt &1 23 %1 fGgm ot %8 9 2|
FuA 11 : oHa | TR 18 o foru zeandt =i wers fagm ft &er s 2|

ITI HYF F ATAF 1, = feu mu e 9 ° gE I W =99 it

(1) &%= [ 3R [ EH 9 Bl
(2) =eE 1 3R AT 39 &l
(3) =Y 189 8, A %9 11 3159 2|
(4) wu [ 3\ 2, A %9A 115 2|

Options :

92090638581. 1
92090638582. 2
92090638583. 3
92090638584. 4

Question Number : 47 Question Id : 9209069766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are incorrect?

(A) There is no scientific basis for discriminating human stocks.
(B) Trisomy for chromosome 18 is Edward Syndrome.

() Gorilla is the largest primate.

(I Humans have ‘M’ shaped spine

(E) Sternum is a part of skull.

(Choose the correct answer from the options given below :

(1) (A) and (C) only (2) (A) and (B) only
(3 (D) and (E) only (4) (B) and (C) only
Options :

92090638585. 1
92090638586. 2
92090638587. 3
92090638588. 4

Question Number : 47 Question Id : 9209069766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fraforfas & @ #F § F97 TEd 27

(A) TFd Wi ¥ 98 F F71 w8 3915 9E T8 2|
(B) oA 18 H @l 1 9 WA € ugas g 2l
(C)  TifteeT q=d =gl /-9 2|

(D) =Fal i {ig 1 8881 H AR M’ @1 i gl
(E) e @st &1 U 9 2|

= feu o faedi 9 | 98 I =1 =94 Hifw
(1) = (A), (©)
(2) ad (A), (B)
(3) e (D), (E)

(4) ad (B), (O)

Options :

92090638585. 1
92090638586. 2
92090638587. 3
92090638588. 4

Question Number : 48 Question Id : 9209069767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is/are incorrect?

(A) Charles Darwin proposed the idea of Genetic Equilibrium.

(B) Law of Independent Assortment was proved wrong by Lamarck.
(C) Human gametes contain 23 pairs chromosomes.

(D) Inhabitants of African continent mostly belong to Negroid ethnie stock.

Choose the most appropriate answer from the options given below :

(1)  (C) and (D) (2) (A)and (B)
(3) (&) and (C) (4) (B), and (D)
Options :

92090638589. 1
92090638590. 2
92090638591. 3
92090638592. 4

Question Number : 48 Question Id : 9209069767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 4 8 =4 9 Tem 27

(A)  =Ted BfER § FHafS Gqer & faem # yemfad

(B) A 319ede i 4 SAamh gr Terd fag e fean

(C) WHa W& | 23 A &id 2|

(D) 3k HETE & et sifushat i ArEedE wis @ gEy w@d A

e feu U fasedl o & 9E I %1 999 Fifau
(1) === (C), (D)
(2) == (A), (B)
(3) == (A), (C)

(4) =aa (B), (D)



Options :

92090638589. 1
92090638590. 2
92090638591. 3
92090638592. 4

Question Number : 49 Question Id : 9209069768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT :

List [ List I1
(A) ABO Blood Group (I)': ' Hardy-Weinberg
(B) Australopithecus africanus (IIY) Raymond Dart
(C) Human Somatotype (IIT) Karl Landsteiner
(D) Genetic variation (IV) William Sheldon

Choose the correct answer from the options given below:

(1) (A)-ID), (B)-(ID), (C)-(IV), (D)-(D)
(2)  @-D, B)-AD, (C)-AV), (D)-(11D)
(3 (A)-D), (B)-AID, (C)-(IV), (D)-()
(4)  (A)-IV), (B)-(D, (O)-(IIL), (D)~(II)

Options :

92090638593. 1
92090638594. 2
92090638595. 3
92090638596. 4

Question Number : 49 Question Id : 9209069768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % =9 ge-11 1 foes il

(A)
(B)
(©)
D)

Hre feu mu fawedi 9 € W 39 =1 999 Hifw .

(1)
(2)
(3)
(4)

g1 Ft-11

ABO T 9Yg @ &l e
HgEEaHE ThiE (1) e BE
e HHREEY (I11) FTe e=m
sHate fafayga (IV) fafeam seea

(A)-(IID), (B)-(1D), (C)-(IV), (D)-(I)
(A)-(D), (B)-(I0), (C)-(IV), (D)-(11I)
(A)-(ID), (B)-(1D), (C)-(IV), (D)-(I)
(A)-(IV), (B)-(D), (C)-(11I), (D)-(1I)

Options :

92090638593. 1
92090638594. 2
92090638595. 3
92090638596. 4

Question Number : 50 Question Id : 9209069769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I :

(A)
(B)
(C)
(D)

List I
Homo Sapiens
Australopithecines
Acceleration of maturation

Java Man

List I1
(I} Starting of Bipedalism
(IT) S-Shaped spine
(III) Protruding Jaw
(IV) Secular Trend

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(IV), (B)-(ID), (C)-(T), (D)-(11I)
(A)-(IIL), (B)~(II), (C)-(IV), (D)-()
(A)-(D), (B)-(IV), (C)-(1II), (D)-(I1L)
(A)-(ID), (B)-(I1T), (C)-(IV), (D)-(D)



Options :

92090638597. 1
92090638598. 2
92090638599. 3
92090638600. 4

Question Number : 50 Question Id : 9209069769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Teft-1 % @y g 11 w1 T Hifs
g1 g1
(A) gt aftera () fg-9rg =1 urey
(B) srtzramrgaiE= (I) S HAHR FT HECTS
(C) uftaegsan =1 = (I11) &fe: wforE s=e
(D) S 87 (IV) S w9

fre feu 7o famedi @ @ T 39 =1 == it .

(1) (A)-aV), (B)-(II), (C)-(D), (D)-(11I)
(2)  (A)-(I), (B)-1D), (C)-(IV), (D)-(I)
3 W-), (B)-(IV), (C)-(II), (D)-(I1)
(4)  (A)-ID), (B)-(IID), (C)-(IV), (D)-(D)

Options :

92090638597. 1
92090638598. 2
92090638599. 3
92090638600. 4

Question Number : 51 Question Id : 9209069770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which statement is correct about the concept of culture?
(1)  Culture is unique to literate people
(2)  Culture represents mental realities only
(3) Culture is learned and shared

(4) Culture is specific to individuals



Options :

92090638601. 1
92090638602. 2
92090638603. 3
92090638604. 4

Question Number : 51 Question Id : 9209069770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEER(d i FEURN & G99 § &F ¥ S99 FE 87

(1) =i 1 "R =9 % e gepfa fg 2
(2) TEHla A THEE aRAfahaTl & gl 2
(3) HEH( HI HhE a4 A0 HA 1 EHAT 2
(4) wEhpld =afe fafire 2 21

Options :

92090638601. 1
92090638602. 2
92090638603. 3
92090638604. 4

Question Number : 52 Question Id : 9209069771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the core aspect of ethnography?

(1) Participant Observation (2) Content Analysis
(3) Historical Documents (4) Folk Narratives
Options :

92090638605. 1
92090638606. 2
92090638607. 3
92090638608. 4

Question Number : 52 Question Id : 9209069771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qHETTd - &1 JYd T8c] 91 87

(1) wfaarft sEers (2) fawa =g =1 fagerm
(3) UfeiE qEE (4) < Iama
Options :

92090638605. 1
92090638606. 2
92090638607. 3
92090638608. 4

Question Number : 53 Question Id : 9209069772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The most commonly cited defining feature of caste does not include :

(1) Caste is determined by birth

(2) Caste groups are endogamous

(3 (Caste were traditionally linked to occupations

(4) Caste is an open system allowing social mobility
Options :

92090638609. 1
92090638610. 2
92090638611. 3
92090638612. 4

Question Number : 53 Question Id : 9209069772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
it 1 FElYe 9 § &1 9 Jrefl 9T % Wed § = § 9 F3 aftfoa T8 87

(1) =g =1 fufor 5= 9 g 2l
(2) fd TYE 3A-HeAda &d &l
(3) TEEE ®9 € Aid R W 9 AT i § gEihd o)
(4) =t v goa =ae & o gt fasferan i 3w 21

Options :

92090638609. 1
92090638610. 2
92090638611. 3



92090638612. 4

Question Number : 54 Question Id : 9209069773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process by which cultural elements are borrowed from another society is called diffusion.

Which of the following is not a type of process of diffusion?

(1 Direct contact diffusion (2) Indirect contact diffusion
(3) Stimulus diffusion (4) Intermediate contact diffusion
Options :

92090638613. 1
92090638614. 2
92090638615. 3
92090638616. 4

Question Number : 54 Question Id : 9209069773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% ka1 T5Ed (s d@l w1 3 89 | o 9 8, 39 fomw wEd Bl e A E
i €t faerm 1wl 78 27

(1) v |ueh faem (2) ZAUHY H9H o
(3) g faw (4) weErEdT @ femw
Options :

92090638613. 1
92090638614. 2
92090638615. 3
92090638616. 4

Question Number : 55 Question Id : 9209069774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Polyandry is practiced in very few societies. The example of such society is

(1) MNuer of Africa (2) Todas of India
(3) Maori of New Zealand (4) Raji of Nepal

Options :



92090638617. 1
92090638618. 2
92090638619. 3
92090638620. 4

Question Number : 55 Question Id : 9209069774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W& Y GHS § wg-ufayr e W1 UE FHI 1 SgE d
(1)  arfie &1 = (2) 9RA F W

(3)  guirels =1 A3 (4) 9T T TS
Options :

92090638617. 1
92090638618. 2
92090638619. 3
92090638620. 4

Question Number : 56 Question Id : 9209069775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not classified as affinal kin?

(1) Daughter’s hushand (2) Father's brother
(3) Sister-in-law (4) Mother's brother's wife
Options :

92090638621. 1
92090638622. 2
92090638623. 3
92090638624. 4

Question Number : 56 Question Id : 9209069775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 5 9 el f9ame gaddt 9avi § afiga 721 foran man 7
(1) =@ =1 9fd (grme) (2) foar =1 92 (Im=n/arS)
(3) e /ardt (4) =t & wrg 1 ueit (Ar)

Options :



92090638621. 1
92090638622. 2
92090638623. 3
92090638624. 4

Question Number : 57 Question Id : 9209069776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pattern of residence in which the newly married couple does not live with or near kin, is
called

(1) Neolocal (2) Patrilocal
(3 Bilocal (4)  Awvunculocal
Options :

92090638625. 1
92090638626. 2
92090638627. 3
92090638628. 4

Question Number : 57 Question Id : 9209069776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ETE 1 UHT G4 A8 A9-Taaifeq eufq gafbay & @y @1 395 99 98 =
HEAT Bl

(1) -z 2 firg - wf
(3 T -k (4) @EEgEe (Avunculocal)
Options :

92090638625. 1
92090638626. 2
92090638627. 3
92090638628. 4

Question Number : 58 Question Id : 9209069777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tylor thought that the belief in souls was the earliest form of religion. The term used to refer

to such belief is :

(1) Animatism (2) Totemism
(3 Animism (4) Bongaism
Options :

92090638629. 1
92090638630. 2
92090638631. 3
92090638632. 4

Question Number : 58 Question Id : 9209069777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEeR 1 faar @1 & srema 4 favaw @ v &1 Qe @E 91| 36 YR % Od &

Hefdd = & foe 3ugm 4 < S 9o 9= e

(1) SHSiEdarnEg (2) Zienan

(3) SaaE (4) @i (Bongaism)
Options :

92090638629. 1
92090638630. 2
92090638631. 3
92090638632. 4

Question Number : 59 Question Id : 9209069778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The practice of determining guilt or innocence by submitting the accused to dangerous and

painful test is called

(1) oath (2) mediation
(3) adjudication (4) ordeal
Options :

92090638633. 1
92090638634. 2
92090638635. 3
92090638636. 4



Question Number : 59 Question Id : 9209069778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A F AR a91 55 o 9 T gl 3HH 30 g o fuatfa w9+
HEATH Fed 2l

(1) Mg (2) T4
(3)  sAfufrg (4) =Rfe= TiEm
Options :

92090638633. 1
92090638634. 2
92090638635. 3
92090638636. 4

Question Number : 60 Question Id : 9209069779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Kula ring practiced by Trobriand Islanders is example of

(1) Balanced Reciprocity (2) Generalized Reciprocity
(3) Market Exchange (4) Global Supply Chain
Options :

92090638637. 1
92090638638. 2
92090638639. 3
92090638640. 4

Question Number : 60 Question Id : 9209069779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ZifsraT= granfaat g arsms | o SH 9 gen o e 5§ e e 27

(1) Eqfera IR (2) \EEHT TR
@) =R faf (4) afesh Y @
Options :

92090638637. 1
92090638638. 2
92090638639. 3



92090638640. 4

Question Number : 61 Question Id : 9209069780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Claude Levi-Strauss is considered the leading proponent of an approach to anthropological

theory, named

(1) Evolutionism (2} Ethno science
(3 Structuralism (4) Marxism
Options :

92090638641. 1
92090638642. 2
92090638643. 3
92090638644. 4

Question Number : 61 Question Id : 9209069780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS Tdl-=2id =l AFaEH Agra & 68 397 %1 Juv S99 9= 97 27

(1) TowmEr (2) wATTafaT
(3) HEAEE (4) wEEaE
Options :

92090638641. 1
92090638642. 2
92090638643. 3
92090638644. 4

Question Number : 62 Question Id : 9209069781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Franz Boas is founding American Anthropologist. His theoretical ideas are labeled as :

(1) Functionalism (2) Psychoanalysis
(3 Feminism (4) Historical particularism
Options :

92090638645. 1



92090638646. 2
92090638647. 3
92090638648. 4

Question Number : 62 Question Id : 9209069781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wi S Uk G Yades gHatasE 21 396 g faenl = e § 3 e ver g
fafga T mne

(1) AT

(2)  wArfererT

(3) THER

(1) ufdEias ﬁﬁﬁgﬁ'ﬂﬁm jﬁlﬁm (Historical Particularism)
Options :

92090638645. 1
92090638646. 2
92090638647. 3
92090638648. 4

Question Number : 63 Question Id : 9209069782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term “Backward Hindus” for the tribals of India was coined by

(1) M.N. Srinivas (2) G.S. Ghuriye
(3) S.C. Dube (4) L.P. Vidyarthi
Options :

92090638649. 1
92090638650. 2
92090638651. 3
92090638652. 4

Question Number : 63 Question Id : 9209069782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR i St  fore foss fag o v fean?

(1) vH.w. HifE=m (2) Sfi.ug. giwn
(3) AL g (4) ve. . fagamdf
Options :

92090638649. 1
92090638650. 2
92090638651. 3
92090638652. 4

Question Number : 64 Question Id : 9209069783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The “Kurukh” language spoken by oraons of Central India belongs to

(1) Austo-Asiatic family of languages
(2) Dravidian family of languages
(3) Indo-Aryan family of languages

(4) Sino-Tibbetan family of languages

Options :

92090638653. 1
92090638654. 2
92090638655. 3
92090638656. 4

Question Number : 64 Question Id : 9209069783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y UTE § 3R AT gH aielt JH arell HEEl ey ey deatud 27

(1) 9Tl 1 ALI-UETE 9 (2) WIS = FfAE 98
(3)  WMIT FT TEI-3EH T (4) a3l %1 ArEAl-fasadt g
Options :

92090638653. 1
92090638654. 2
92090638655. 3
92090638656. 4



Question Number : 65 Question Id : 9209069784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sixth schedule of constitution provides partial autonomous status to the tribal areas.

Which state among following have sixth schedule area in India?

(1) Gujrat (2} Uttarakhand
(3 Aszsam (4) Karnataka
Options :

92090638657. 1
92090638658. 2
92090638659. 3
92090638660. 4

Question Number : 65 Question Id : 9209069784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dfaa= &1 B ST TG dTel &A1 B HAMF Taaar &1 Wl JgH Hdl 2| Hefafaa
T F HH 8 ToF I GG § Bl IFES! 1 & W g3 87

(1) T=a (2) ITES
(3) IEw (4) FAEH
Options :

92090638657. 1
92090638658. 2
92090638659. 3
92090638660. 4

Question Number : 66 Question Id : 9209069785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Aszsertion (4A) : The 23" Amendment in the Indian Constitution made significant changes

in tribe’s participation in Indian democracy.

Reasons (R) : Formation of Gram Panchayvats and Gram Sabhas facilitated the access to

benefits of various Government schemes.
In the light of the above Statements, choose the choose answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false

(4) (A) is falze but (R) is true

Options :

92090638661. 1
92090638662. 2
92090638663. 3
92090638664. 4

Question Number : 66 Question Id : 9209069785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &1 %Y QU T 8 : U AMFHEA (Assertion (A)) F &9 # fofEa 2 a1 gaU 395 FAO
(Reasons (R)) & ®9 7 :

wweE (A) :  WWHE "iauE & 739 5uieE § 9 & 99ad 0 S9artadi S giaqiiEn &
fore srefquf ot forg 7w )

= (R) : T A 9T T TS & TS g i s sEwal & o mqe
pric i

ITRE HLH % AT °, A fou mu fawed O & 999 39w I FH 95 Hifau;

(1) (A 3R (R) 541 561 & 3 (R), (A) i =& =amen 2

(2) (A 3 (R) TF1 & &, S (R), (A) 1 =t =3me 78 2
(3) (A) =i g, il (R) el 78 2|

(1) (N =@ FE 2, S (R) T8 2

Options :

92090638661. 1
92090638662. 2
92090638663. 3
92090638664. 4

Question Number : 67 Question Id : 9209069786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One ig labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : Cross-culturally, wife-beating is the most common form of family violence.

Reasons (R) : Inequality of men and women in economic access is the reason of violence

against women in society.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false

(4) (A) is falze but (R) is true

Options :

92090638665. 1
92090638666. 2
92090638667. 3
92090638668. 4

Question Number : 67 Question Id : 9209069786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e &1 YA fqu T € : U ATaHe (Assertion (A)) % €9 T fofEd 8 @1 gHU 39 HRU

(Reasons (R)) % ®9 4 :

ANFEA (A) 1 3T: AEHAH T § Tt Bl T TETH G651 H qaG9H qH= &9 2

F (R) : anfdes wife O Teul a1 afgensii § EHEa gurs § ofgensi & wfa e
=T HA 2

IFIH FHYA & A H, = 60 70 fohed § § g9 I9IH IT B T91 I

(1) (A) 3R (R) 4T 56 & 3 (R), (A) i =& == 2
(2)  (A) #HR(R) gH1 @t &, wiféh (R), (A) 1 @t =amean 78 21
(3) (A) = 2, afer (R) ot 7 21
(1) (A @& 7@ &, @ (R) 781 2
Options :



92090638665. 1
92090638666. 2
92090638667. 3
92090638668. 4

Question Number : 68 Question Id : 9209069787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the theoretical schools of Anthropology chronologically in ascending order :
(A) Diffusionism

(B) Functionalism

() Structuralism

(D Symbolic theories

(E) Post modernism

Choose the correct answer from the options given below :

(1) (A), (B), (C). (D), (E) (2)  (A). (C), (B), (D), (E)
(3) (A), (E), (B), (C), (E) (4) (A), (E), (B), (O), (D)
Options :

92090638669. 1
92090638670. 2
92090638671. 3
92090638672. 4

Question Number : 68 Question Id : 9209069787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THATSAM % HGT~ Tai %] HTe & Fgd §¢ HA § FGEIT Hi:
(A) THRER

(B) eREaTg

(C) TR

(D) i fagra

(E) wvaamyfearang

= feu v fa=eTl 9 O 9E 39 1 =994 Sifau

(1) (A, B), (C), (D), (E)
2) (@A), (C), (B), (D), (E)
(3)  (A), (D), (B), (C), (E)
(4) (), (E), (B), (C), (D)

Options :

92090638669. 1
92090638670. 2
92090638671. 3
92090638672. 4

Question Number : 69 Question Id : 9209069788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ethnographic fieldwork is a systematic method of knowledge creation. Arrange the steps of

fieldwork from beginning to end :
(A) Identifving key informants
(B) Rapport establishment

(i Selection of topic and field
(In Data collection

(E) Classification and analysis of data and writing

Choose the correct answer from the options given below :

(1) (A). (C). (B), (D), (E) (2) (C). (B), (A). (D), (E)
(3) (A), (D), (C), (B). (E) (4)  (A), (E), (D), (C), (B)
Options :

92090638673. 1
92090638674. 2
92090638675. 3
92090638676. 4

Question Number : 69 Question Id : 9209069788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT -0 % foTu &= §9 Feiq 1 v sgated fafa 21 e & =0n S 9w |
3T T AT H

(A) H=F g %l 989 Bl

(B) H9S TIUA HET

(C) &= aen fawg =1 === +

(D)  FAiHE THT HTT

(E) 3Tl o1 it 9 fayeiaor 991 oiE" S &0

e feu o fawewl 4§ w3 w1 95 fifew

1) (A), (©), B), (D), (E)
@ (0, B), (A), D), (E)
3 (@), D), (C), ®), (B
@) (A), (B), (D), (©), (B)

Options :

92090638673. 1
92090638674. 2
92090638675. 3
92090638676. 4

Question Number : 70 Question Id : 9209069789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : Disasters such as earthquakes, floods and droughts can have greater or
lesser effects on human life, depending on social conditions.
Statement I1 : Disasters are partly social problems, with partly social causes and

zsolutions.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement Il are incorrect
(3 Statement [ is correct but statement I1 is incorrect
(4) Statement I is incorrect but statement I1 is correct

Options :

92090638677. 1
92090638678. 2
92090638679. 3
92090638680. 4

Question Number : 70 Question Id : 9209069789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i g e fer e E

FUA L [, qME TG @ TS 61 A9 HHEITAe TR % SFTER gEE SiEd )
i AU Hed I9E S Hohd 8|

w9 [1: HAMe] e 9 °§ amifas gg@n & oo snfis amfas s aon
HETYH E|

ITE FHY & @ °, H= G T fGFhedi § ¥ F99H 30 I A1 994 i

(1) =¥ 1 3 11 g1 5t £l
(2) =yA 1 3R 11 gH1 T 2
(3) =¥ 1 FE g, oo %97 11 7o 2
(4) =¥ 1 7o 8, wfea sy 1188 2

Options :

92090638677. 1
92090638678. 2
92090638679. 3
92090638680. 4

Question Number : 71 Question Id : 9209069790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Cultural Ecology seeks to understand the relationships between cultures
and their physical and social environment.

Statement I1 : Some of the earliest anthropologists associated with cultural ecology are
Julian Steward, Franz Boas and Karl Marx.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but statement II is false

(4) Statement I is false but statement 11 is true



Options :

92090638681. 1
92090638682. 2
92090638683. 3
92090638684. 4

Question Number : 71 Question Id : 9209069790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= & wee fgg o &

FYA 1 wEFfaw Tieafadl g SERfaar a9 3 Hifas 9 Gt TEeEon § gadi
=1 wHe =l 2

FG 11 : o3 WIS, HF AE T FHel 7FH GEHaE qEidh] 8 F6Yd $9
IR AHafaaH 2

I FHYF 5 AT 4, {9 for T fFedi § § ¥4 I I FH 997 HAC ;

(1) zq [ 3 11 gF7 96 2|
(2) =¥ 1 3R 1 eF] Ted &1
(3) Ty [ FE 2, o =99 11 e 2
(4) e [ 7ad &, ofed wuA 1188 21

Options :

92090638681. 1
92090638682. 2
92090638683. 3
92090638684. 4

Question Number : 72 Question Id : 9209069791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the thinkers associated with evolutionism :
(A) E.B. Tvlor

(B) Clifford Geertz

(0 Eric Wolf

(D L.H. Morgan

(E) D.N. Majumdar

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (A) and (E) only (4) (A) and (D) only
Options :

92090638685. 1
92090638686. 2
92090638687. 3
92090638688. 4

Question Number : 72 Question Id : 9209069791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farmame ¥ wafua faansl #it 129H +i:

(A) 3.4 o
B) fewe fida
(C) U= go%

(D) UHA.UH, HiH

(E) €IL.uA. H9HEeR

e feu o faseui @ § 5 39 1 999 Hifa .
(1) == (A), (B)
(2) %9 (B), (C)
(3) e (A), (E)

(4) ad (A), (D)

Options :

92090638685. 1
92090638686. 2
92090638687. 3
92090638688. 4

Question Number : 73 Question Id : 9209069792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the major braches of Anthropology :
{(A) Physical Anthropology

(B)  Social-cultural Anthropology

(C)  Asian Anthropology

(D)  Anthropology of law

Choose the correct answer from the options given below :

(1) (A) and (C) only (2)  (A) and (B) only
(3) (C) and (B) only (4)  (A) and (D) only
Options :

92090638689. 1
92090638690. 2
92090638691. 3
92090638692. 4

Question Number : 73 Question Id : 9209069792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHafasH i & WEn S = 87
(A)  ifess amEfasmA

(B) @mifses - HiEhfas wHafaTH
(C) ufmET gFafEEH

(D) fafa =1 geafasm

+r= feu o faew § § TE I %1 999 St
(1) == (A), (C)
(2) wEe (A), (B)
(3) =« (C), (B)

(4) Had (A), (D)



Options :

92090638689. 1
92090638690. 2
92090638691. 3
92090638692. 4

Question Number : 74 Question Id : 9209069793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I1 :

List 1 List IT
(A) M.N. Srinivas (I} Little and great tradition
(B) L.P. Vidyarthi (IY Sanskritization
(C) N.K. Bose (IIT) Sacred Complex
(D) Robert Redfield (IV) Hindu Mode of Tribal Absorption

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(I), (C)-(I1I), (D)-(T)
(2) (A)-(D), (B)-(II), (C)-(I1I), (D)-(IV)
(3) (A)-(ID, (B)-(IV), (C)-(I11), (D)-(D)
(4) (A)-(IL), (B)-(11D), (C)-(IV), (D)-(I)

Options :

92090638693. 1
92090638694. 2
92090638695. 3
92090638696. 4

Question Number : 74 Question Id : 9209069793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T=1-1 % w19 g=-11 &1 e Hifag

g1 H-11
(A) T difmm (D) B 91 92

(B) uadi. fagmei (1) et

(C) T3, =9 (I1T) wfersr wa &qg
(D) Tae t=fics (IV) ST & ATHETES
=l famg fafy

e feu o fawedi O 9 wd I %1 999 Hifaw .

(1) (A)-AV), (B)-(ID), (C)-(I1I), (D)-(T)
2y (A)-@, (B)-(I), (C)-(1I), (D)-AV)
(3)  (A)-ID, (B)-(IV), (C)-(I1I), (D)-(I)
(4)  (A)-(AD, (B)-(I1D), (C)-(IV), (D)-(I)

Options :

92090638693. 1
92090638694. 2
92090638695. 3
92090638696. 4

Question Number : 75 Question Id : 9209069794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List [ List I
(A) Hunting-gathering I Buksa
(B) Pastoraliam (I) Banjara
(C) Agriculture (IIT) Birhors
(DY Artisans (IV) Gaddi

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(LIT), (C)-(IV), (D)-(1T)
(2) (A)-(IID), (B)-(IV), (C)-(I), (D)-(IT)
(3) (A)-(II), (B)-(I1I), (C}-(IV), (D)-(D)
(4)  (A)-(D), (B)-(ID), (C)-(IIT), (D)-(IV)

Options :

92090638697. 1
92090638698. 2
92090638699. 3
92090638700. 4

Question Number : 75 Question Id : 9209069794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1% |rg gei-11 & fiem $ifse
-1 11
(A) IE-HTH (D) g
(B) wm=a (IT) &=
(©) (I11T) femer
(D) FreTsr (IV) gt

frg feu 7o famei # @ e 39 =1 == i .

(1) @)-, (B)-(D), (C)-AV), (D)-I)

(2)  (A)-I), (B)-(AV), (C)-(1), (D)-(1I)

(3)  (A)-aI), (B)-(IID), (C)-(IV), (D)-()

4)  (W-), (B)-(ID), (C)-(ID), (D)-(IV)
Options :



92090638697. 1
92090638698. 2
92090638699. 3
92090638700. 4

Question Number : 76 Question Id : 9209069795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following, which 1s the oldest glacial phase ?

(1) Riss (2) Gunj
(3)  Mindel (4) Wurm
Options :

92090638701. 1
92090638702. 2
92090638703. 3
92090638704. 4

Question Number : 76 Question Id : 9209069795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frmfafes & 4, wian feae e =b & 27

(1) & (Riss) (2) 7= (Gunj)
(3) fI== (Mindel) (4) =9 (Wurm)
Options :

92090638701. 1
92090638702. 2
92090638703. 3
92090638704. 4

Question Number : 77 Question Id : 9209069796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an absolute dating technique ?

(1) Stratigraphy (2) Thermoluminescence

(3) Seriation (4) Palynology



Options :

92090638705. 1
92090638706. 2
92090638707. 3
92090638708. 4

Question Number : 77 Question Id : 9209069796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fr=fafigd % =1 & as g Fe- o 1S 27

(1) TaGeRAfas (2) aT9EEIH
(3) =UERAT (4) T fasE
Options :

92090638705. 1
92090638706. 2
92090638707. 3
92090638708. 4

Question Number : 78 Question Id : 9209069797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following tools were developed during Mesolithic period?

(1) Chisels (2) Microburins
(3 Axes (4) Adgzes
Options :

92090638709. 1
92090638710. 2
92090638711. 3
92090638712. 4

Question Number : 78 Question Id : 9209069797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TN i § 9 4 8 s 9 3itan fawfaa e gr

(1) =t (2) WTEHISNA [qEmasui
(3) Fon/FearEl (4) =FeT
Options :

92090638709. 1
92090638710. 2
92090638711. 3
92090638712. 4

Question Number : 79 Question Id : 9209069798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During which of the following time periods did the pleistocene epoch occur?

(1) 66 million to 56 million vears ago
(2) 56 million to 33.9 million years ago
(3 2.58 million to 11,700 years ago

(4) 11,700 years ago to the present

Options :

92090638713. 1
92090638714. 2
92090638715. 3
92090638716. 4

Question Number : 79 Question Id : 9209069798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafcifigd @ @ foFE @ 1&g % SRH s i §377

(1) 66 fafeem & 56 fafeas ad g4 (2) 56 faferaa & 33.9 fafem ad @
(3)  2.58 faferaa & 11,700 fafermm od ©@(4) 11,700 ffeem a9 @ & ad9 o

Options :

92090638713. 1
92090638714. 2
92090638715. 3
92090638716. 4



Question Number : 80 Question Id : 9209069799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is pluvial period?
(1) A period of widespread glacation

(2) A period of increased rainfall in arid regions

(3) A period of voleanic activity
{4) A period of sea-level decrease
Options :

92090638717. 1
92090638718. 2
92090638719. 3
92090638720. 4

Question Number : 80 Question Id : 9209069799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(FEgfe) e 5= 71 % 41 87

(1) Torga feareare =1 (2) % &F1 4 991 § gig aren e
(3) ATTgE T AT FH B (4) THz T g8 HAT ATel B
Options :

92090638717. 1
92090638718. 2
92090638719. 3
92090638720. 4

Question Number : 81 Question Id : 9209069800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How old can earbon dating accurately determine the age of an artifact?

(1) Up to 100 years old (2) Up to 1000 years old
(3 Up to 10,000 years old (4) Up to 50,000 yvears old

Options :



92090638721. 1
92090638722. 2
92090638723. 3
92090638724. 4

Question Number : 81 Question Id : 9209069800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rl foeqshen &1 Taar 1 fRal W™ 9% FEA HA-HOR0 g0 ®EE ®9 § fHaifa
fepan < wha 27

(1) 100 =9 & 6t T (2) 1000 9 ek = aar
(3) 10,000 99 T =i Ta-al (4) 50,000 99 TS I FATAT
Options :

92090638721. 1
92090638722. 2
92090638723. 3
92090638724. 4

Question Number : 82 Question Id : 9209069801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of stone tool 1s commonly associated with Lower Palaeolithic Period?

(1) Chopper (2) Burin
(3) Celt (4) Grinding stone
Options :

92090638725. 1
92090638726. 2
92090638727. 3
92090638728. 4

Question Number : 82 Question Id : 9209069801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HET4: 8 TR H1 99 AR = [ 3 | 69t 2 7

(1) PSR (2) wEfi
(3) =U (4) U9 geR
Options :

92090638725. 1
92090638726. 2
92090638727. 3
92090638728. 4

Question Number : 83 Question Id : 9209069802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following best characterizes the Neolithic period?

(1) It is a period of widespread glaciation
(2) It is a period of significant voleanic activity
(3) It is a period of early human civilization and agricultural development
(4) It is a period of the rizse of Roman empire
Options :

92090638729. 1
92090638730. 2
92090638731. 3
92090638732. 4

Question Number : 83 Question Id : 9209069802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= @ | *19 |1 F9 FaumTr 0 S a9 #9959 H goiar 87

(1) ¥ faega fenresred =1 31 2|

(2) ¥ "EwUl SATCTE! Afwadl &1 I 2

(3) ¥E 3fe AHE FET a9 FY fGwE F= g0 8
(4) ¥ U5F "H=T % 34 =1 7 &l

Options :

92090638729. 1
92090638730. 2



92090638731. 3
92090638732. 4

Question Number : 84 Question Id : 9209069803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mousterian tool making technique is also known as :

(1) Discoid Core Technique (2) Indirect Percussion Technique
(3) Fluting Technique {4) Shattering Techique
Options :

92090638733. 1
92090638734. 2
92090638735. 3
92090638736. 4

Question Number : 84 Question Id : 9209069803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIAR T i AR dEAh B off &1 S 2|

(1) Teowigas =N aHi® (2) AIIE TET dHAID
(3) g aeE (4) To=-fim = Hi TH=+
Options :

92090638733. 1
92090638734. 2
92090638735. 3
92090638736. 4

Question Number : 85 Question Id : 9209069804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a Neolithic site in Assam ?

(1) Kamrup (2) Barpeta

(3 Daojali Hading (4) Cachar

Options :



92090638737. 1
92090638738. 2
92090638739. 3
92090638740. 4

Question Number : 85 Question Id : 9209069804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i O | %9 o1 e 3190 O Us 9T T 8 7

(1) =Hmg (2) =
(3) T &g (1) FBR
Options :

92090638737. 1
92090638738. 2
92090638739. 3
92090638740. 4

Question Number : 86 Question Id : 9209069805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Attirampakkam is an open-air site in Tamil-Nadu. It is famous for :

(1) Palaeolithic tools (2) Mesolitihic tools
(3 Neolithic tools (4) Chalcolithic tools
Options :

92090638741. 1
92090638742. 2
92090638743. 3
92090638744. 4

Question Number : 86 Question Id : 9209069805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST, afteTg § UE ge-wd 8| 78 fEee fou ufag 27

(1) TN 3ER (2) HEEANEO HR
(3) E9TET HER (4) THEER A HAR
Options :

92090638741. 1
92090638742. 2
92090638743. 3
92090638744. 4

Question Number : 87 Question Id : 9209069806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Aahar culture of Rajasthan is the classical representation of :

(1 Palaeolithic tools (2) Mesolitihic tools
(3 Neolithic tools (4) Chaleolithic tools
Options :

92090638745. 1
92090638746. 2
92090638747. 3
92090638748. 4

Question Number : 87 Question Id : 9209069806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 HTER Fhid 1 qaH Fe9H 2

(1)  qUam g (2) HEETSTOl
(3)  TaTETOr (1) AHIE I
Options :

92090638745. 1
92090638746. 2
92090638747. 3
92090638748. 4



Question Number : 88 Question Id : 9209069807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a site of Indus Valley Civilization?

(1 Chanhudaro (2) Burzahom
(3 Kalibanga (4) Surkotada
Options :

92090638749. 1
92090638750. 2
92090638751. 3
92090638752. 4

Question Number : 88 Question Id : 9209069807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

femaferfiga & & 7 @1 fomy ardt wwren =1 e 18 27

(1) =rgarst (2) goEm
(3)  =HIciEm (4) HHrET
Options :

92090638749. 1
92090638750. 2
92090638751. 3
92090638752. 4

Question Number : 89 Question Id : 9209069808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is characterized as a Megalith ?

(1) The Great Wall of China (2} The Cologseum in Rome
(3) The Stone henge in England (4) The Statue of Liberty in USA
Options :

92090638753. 1
92090638754. 2



92090638755. 3
92090638756. 4

Question Number : 89 Question Id : 9209069808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafofas 4 @ 58 memmm & w9 4 fafa e smr 27

(1) & U< 9 TS =150 (2) T Hiefaay, T4
(3) T WHET, 3RS (4) g =g A% fomdl, Luau,
Options :

92090638753. 1
92090638754. 2
92090638755. 3
92090638756. 4

Question Number : 90 Question Id : 9209069809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Currently, the present day world is in which epoch?

(1) FPleistocene (2) Holocene
(3 Pliocene (4) Miocene
Options :

92090638757. 1
92090638758. 2
92090638759. 3
92090638760. 4

Question Number : 90 Question Id : 9209069809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TAHM |, A I g TmE g R 7

(1) “oseEE () (2) EreEE
(3) AEEA () (4) TEER (IETTH)




Options :

92090638757. 1
92090638758. 2
92090638759. 3
92090638760. 4

Question Number : 91 Question Id : 9209069810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One ig labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A):  Radio-Carbon is a useful method for determining the age of organic
materials.
Reasons (R) : Radio-Carbon dating relies on the decay of Carbon-14, a radio active isotope

of carbon, and can provide accurate estimates of the age of materials.

In the light of the above Statements, choose the correct answer from the options given below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct
(4) (A) 15 not correct but (R) is correct
Options :

92090638761. 1
92090638762. 2
92090638763. 3
92090638764. 4

Question Number : 91 Question Id : 9209069810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 21 YA fqu T B : vs AfuFe (Assertion (A)) % &9 ¥ fafga 8 a1 gaU 39 FRO
(Reasons (R)) % #9 4 :

AYHE (A) : w9 Tgrdl i 7Y Fuiia F4 F v fegmmes Faqane uh 39@be
faf 21
=R (R) fearmm" HEAWYR, ®EA-14 5 &, ®Ed % Uh  (Sardshd

TOEATHS T UG & a91 9q3A i 37g F GH FTHE TgH B
Tl B

IHIE HLF @ 4, = o U foweni 4 4 599 I9g® 39 H T4 HifU;

(1)  (A) 3R (R) TFT @& & 31 (R), (A) i =t =men 2

(2)  (A) 3R (R) 2F1 @& E, =6 (R), (A) 1 78t =3men 72 2
(3) (A =l 2, «ife (R) |8l =487 2|

(1) (A Fé FE g, @l (R) =é 2

Options :

92090638761. 1
92090638762. 2
92090638763. 3
92090638764. 4

Question Number : 92 Question Id : 9209069811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) :  The glacial era, also known as the Ice Age, was a period of repeated
advances and retreats of large ice sheets that affected much of the

world.

Reasons (R):  During the glacial era, global temperatures were much higher than

today, resulting in formation of huge water bodies in Europe.

In the light of the above Statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4)  (A) is false but (R) is true

Options :

92090638765. 1
92090638766. 2
92090638767. 3
92090638768. 4

Question Number : 92 Question Id : 9209069811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &1 ®YA QU T § : U AuFHEA (Assertion (A)) % &9 § fafEa g a1 gaU 396 RO
(Reasons (R)) % #9 1 :

FfyweE (A) ;. Temet g =1 ssbien 0 i F&d 81 T8 aEdl a9 e femEed *
ST 1 g o7 Foee sAfiea fava =t wafem feeam

FA (R) : et g it srafy o dfvaes a9 6t go § Frh st o1 faees
wfomraEd o | fawme s@ Fer &l

IFIH HIA & e H, = U mu fommedl § § g95 I9gw® 39 H T91 HI0;

(1)  (A) 3R (R) TF1 76 & 3 (R), (A) Fi & =3me= &)

(2)  (A) 3R (R) SHi @&t 2, feh (R), (A) i @t =amen 8 2
(3) (A FE 2, wf (R) wél 74 2

(1) (A wé 7@ 2, @l (R) w8 2

Options :

92090638765. 1
92090638766. 2
92090638767. 3
92090638768. 4

Question Number : 93 Question Id : 9209069812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order starting from the earliest to the most recent :
(A) Lower Palaeolithic

(B Upper Palaeolithic

() Neolithic

(D) Mesolithic

(E) Middle Palaeolithic

Choose the correct answer from the options given below :

(1)  (B), (C). (A), (D), (E) (2) (C), (B), (A), (D), (E)
(3)  (B), (A), (C), (D), (E) (4)  (A), (E), (B), (D), (C)



Options :

92090638769. 1
92090638770. 2
92090638771. 3
92090638772. 4

Question Number : 93 Question Id : 9209069812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fr=fetfiad =i A § YRR @ik Fdi-aq / 3TEa a9 o HICEHAHER SHadd i

(A) ity gaEmE
(B) 3= g
(C)  =a9mEm
(D)  HeEgEm

(E) =& qammEm

fr= feu o famreai § @ 9E I %1 =999 Fifau .

(1) (B), (C), (A), (D), (E)
(2) (C), (B), (A), (D), (E)
(3)  (B), (A), (C), (D), (E)
(4)  (A), (E), (B), (D), (E)

Options :

92090638769. 1
92090638770. 2
92090638771. 3
92090638772. 4

Question Number : 94 Question Id : 9209069813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following archaeological sites on the basis of age of artifacts found at each site,

starting from the oldest to the most recent :
(A) Burzahom

(B) Bhimbetka

() Langhnaj

(I Sarai Nahar Rai

(E). Attirampakkam

Choose the correct answer from the options given below :

(1) (B). (C). (A), (D), (E) (2) (E). (B), (D), (C), (A)
(3) (B), (A), (C), (D), (E) (4) (A), (E), (B), (D), (C)
Options :

92090638773. 1
92090638774. 2
92090638775. 3
92090638776. 4

Question Number : 94 Question Id : 9209069813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 g el w1 98 WE 18 freasensti i QU $ YR W ey ([Wad) § e
T SHaredd i

(A) HeEH
(B) imaes
(C) <A

(D) ¥F ATEL T
(B) sfeetmaasrn

g few o famedl 9 & w8 I 1 959 Hifaw

(1) (B), (C), (A), (D), (E)
(2) (E), (B), D), (C), (A)
(3)  (B), (A), (C), (D), (E)
(4)  (A), (E), (B), (D), (C)

Options :

92090638773. 1
92090638774. 2
92090638775. 3
92090638776. 4

Question Number : 95 Question Id : 9209069814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;

Statement [ : The Mesolithic period is well known for Microlithie tools.

Statement I : Ringstone and celts were developed during lower Palaeolithic period.

In the light of the above Statements, choose the most appropriate answer from the option

given below :

(1) Both Statement | and Statement 11 are correct

(2) Both Statement I and Statement Il are incorrect

(3 Statement I is correct but statement 11 is incorrect

(4) Statement I is incorrect but statement I is correct
Options :

92090638777. 1
92090638778. 2
92090638779. 3
92090638780. 4

Question Number : 95 Question Id : 9209069814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 3 Fu feg w2

FUH [ : T I HI GEIIE IHFR & 0 FE S 2

Fue 11 :  wafy g g 9 foreF 9w [eer fasfaa feu m)

ITF FYF & S 4, {9 fGu U FFeqi § ¥ ¥ I9GF I H 991 i ;

(1) e 13 11 241 81 2|
(2)  FH 1 3R 11 4 1o 2|

(3) Ty T8 2, o w99 1 e 2
(4) &Y 17 2, oI wad 11 981 2
Options :

92090638777. 1
92090638778. 2



92090638779. 3
92090638780. 4

Question Number : 96 Question Id : 9209069815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Grinding and polishing technique of tool making flourished during

Mesolithic period.

Statement I1 : Clactonian and Levalloisian are absolute dating methods for determining

the age of artifacts.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement Il are false

(3) Statement [ is true but statement 11 is false
(4) Statement I is false but statement I is true
Options :

92090638781. 1
92090638782. 2
92090638783. 3
92090638784. 4

Question Number : 96 Question Id : 9209069815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= < o Ty e € -

FIT 1 TEIE T H HAR T H FE q1 Giere A hi qehei 4 3A1d |

FY 11 : Toersensnt & 3y fuifa 6 * fou st aon daaiasHt a@-rs g
e fafo fafemt 2

ITE FHI & @l °, H fGu T faFhedi § 5 F99 I9gE I B 991 HI0

(1) =eF 130 gl 98 2
(2)  FY 1 3R I 2T T4 2|
(3) = 158 8, wife 24 11 e 2
(4) =¥ 17Ted 8, ofeq sy 1188 2

Options :

92090638781. 1
92090638782. 2
92090638783. 3
92090638784. 4

Question Number : 97 Question Id : 9209069816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are FALSE?

(A) In Chaleolithic culture, copper and stone were utilized for making everyday

equipments.
(B) Sangan Kallu is a lower Palaeolithic site in Andhra Pradesh.
(C) Mehniris a type of Neolithic tool.

(D) In archaeology, NBP refers to Northern Black Polished ware culture.

Choose the correct answer from the options given below :

(1) (A) and (C) only (2) (B) and (C) only
(3) (C) and (D) only (1) (A) and (D) only

Options :



92090638785. 1
92090638786. 2
92090638787. 3
92090638788. 4

Question Number : 97 Question Id : 9209069816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

= 03 =H 91 %34 Ted 87

(A)  <fe 3T S o 7T TIEEA 0 | dfd aY1 goud 1 39EnT fohan s o

(B) Y Yo ¥ THEoe] U AT JOUTEIT T 2

(C) HEFR U FE9E YR 6T HAT B

(D) YaEtaswE 8 NBP &1 7Y & - FiaH st qievs 99t Hhoal

= feu o fasweui @ © Tl I w1 934 Hifa
(1) e (A), (O)
(2) %= (B), (C)
(3) =« (C), (D)

(4) A« (A), (D)

Options :

92090638785. 1
92090638786. 2
92090638787. 3
92090638788. 4

Question Number : 98 Question Id : 9209069817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?

(A) Adamgarh (Madhya Pradesh) is a famous Chalcolithic culture site.
(B)  Painted grey ware is a characteristic feature of Iron Age culture.
(C)  Mousterian tools were developed during Iron Age.

(D)  Dendrochronology is a dating technique based on counting of tree-rings.

Choose the correct answer from the options given below :

(1) (B) and (D) only (2) (A) and (C) only
(3) (C) and (D) only (4) (A) and (D) only
Options :

92090638789. 1
92090638790. 2
92090638791. 3
92090638792. 4

Question Number : 98 Question Id : 9209069817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= & & =F 8 o wd €7

(A) HAEHTG (HEVE) UF UiHg AHTER S5 F1 ¥4 8

(B) 98 1§ Uz fohu 8 904 ©iig F1el i TEhid i f99mal 2l

(C) itz et § wEaciE 3wl & fawm & =)

(D) FH-ToE1 H AT F YR T HA-HIR0 FHT T B JH-I0F FAFH famH
Ed 2l

= feu Mo fomredi # & HET I 1 T2 HiC

(1) ==t (B), (D)

(2)  F(A), (C)

3) I (0), (D)

(4) = (A), (D)



Options :

92090638789. 1
92090638790. 2
92090638791. 3
92090638792. 4

Question Number : 99 Question Id : 9209069818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :

List I
{A) Gamblian () Wurm
(B) Kanjeran (II) Gunj
(C) Kageran (IIT}) Riss
Dy Kamasian (IV) Mindel

Choose
(1)
(2)
(3)
(4)

Options :

the correct answer from the options given below:

(A)-(TV), (B)-(ID), (C)-(T), (D)-(1IT)
(A)-(IIT), (B)-(I), (C)-(1II), (D)-(IV)
(A)-(II), (B)-(1), (C)-(IV), (D)-(I1T)
(A)-(D), (B)-(I1D), (C)-(II), (D)-(IV)

92090638793. 1
92090638794. 2
92090638795. 3
92090638796. 4

List I

Question Number : 99 Question Id : 9209069818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 % @12 gt 11 &1 e it

T=-1 =11
(A) TEfeEs (I) =4 (Wurm)
(B) F (I) 7 (Gunj)
(C) e (I1I) T (Riss)

(D) EILIGEE (IV) fi=e (Mindel)
= feu v fawedi 4 9 9& I =1 999 Fifsw -

(1) (A)-AV), (B)-(I), (C)-(D), (D)-(I1I)
(2) (A)-ID, B)-D, (C)-aD), (D)-AV)
(3 (A)-I), B)-(D), (O)-(IV), (D)-(11L)
4)  (A)-D, (B)-ID), (C)-(I), (D)-(AV)

Options :

92090638793. 1
92090638794. 2
92090638795. 3
92090638796. 4

Question Number : 100 Question Id : 9209069819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List II
(A) Cairn circle (I)' " Lower Palaeclithic
(B) Sohan culture (I) Tool making
(C) Fluting (I} Neolithic
(D) Brahmagiri (IV) Megalith

Choose the correct answer from the options given below:

(1) (A)-(III), (B)-(IV), (C)-(I), (D)-(1I)
(2) (A)-(IV). (B)-(D). (C)-(II), (D-(I1I)
(3) (A)-(D), (B)-(IV), (C)-(ID), (D)-(I1I)
(4) (A)-(II), (B)-(I1I), (C)-(D), (D)-(IV)

Options :

92090638797. 1
92090638798. 2
92090638799. 3
92090638800. 4

Question Number : 100 Question Id : 9209069819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 % |1y gt 11 &1 faere s :

-1 ge=-11
Q) FHg (D) fergaom™
(B) &g @whia (1) faw fmf
(C) wegfen (11I) =/ 9T
(D) sl (IV) wETaTEmT

= feu v fawedi 9 © 9E I =1 999 Hifsw

(1) (A)-(IID), (B)-(IV), (C)-(D), (D)-(II)
(2)  (A)-V), (B)-(I), (C)-(ID), (D)-(I1T)
(3 (A)-(D), (B)-(IV), (C)-(1I), (D)-(11T)
(4)  (A)-(ID), (B)-(II), (C)-(I), (D)-(IV)

Options :

92090638797. 1
92090638798. 2
92090638799. 3
92090638800. 4



